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A full jug holds 6 cups of
water.

How many cups of water
do 2 full jugs hold?
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Mathew’s party starts at
2 o’clock. It finishes at
6 o’clock.

How long is Mathew’s
party?

Year 1Copyright 2012 www.tpet.co.uk

8 bricks balance an apple.
10 bricks balance a pear.
The apple and the pear
are together on the scales.

How many bricks will
balance them?
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Which three coins make:
14p, 15p, 16p, 17p?

Can you make 18p using
three coins?
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The classroom is 15 metres
long.
The library is 12 metres
long.
Which room is longer?
How much longer?
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Describe different ways of
paying 7p exactly.

Have a go at doing the
same thing for 13p.
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